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SECTION-I

Q.1 to Q.3 : Read the passage carefully and answer the following questions.

A crow was very thirsty. It flew to a garden in search of water. There was a
pot having a little water in it. So the crow put pebbles into the pot. The water rose

up. The crow drank it and flew away.,
1. Who was very thirsty?
(1) cow (2) crow
(3) parrot (4) fox
2. Sclect the correct option and complete the sentence.
The crow flew to a ........... in scarch of water.
(1) Garden (2) Well
(3) House (4) School
3. What did the crow put into the pot?
(1) Leaves (2) Sticks
(3) Pebbles (4) Money
4. If dogs: bark
then bears:
{1) Snore (2) Squawk
(3) Squeal (4) Screech
SPACE FOR ROUGH WORK
0202 / Urdu Set-A 20f32 P.T.O.
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5. Select the correet option and solve the puzzle.
[tfulr] ]
1]
| C |
p
ofr c|
2B
3 Bad
T [A]
LI
e
e
1]
(M k lL,o (2) m g b
3) Isj (4) e, h, s
6. Sclect the correct alternative and fill in the box.
(1) East west
(2) South
Directions
(3) South east
(4) South west
7. Select the correct option and complete the sentence.,
I will give it back 10 you ...................
(1) Yesterday (2} Last week
(3) Tomorrow (4) Long long ago
SPACE FOR ROUGH WORK
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8. Choose the correct request from the
My friend forgot his pen.

He said, ..o, 5
(1) Please give me your pen. (2) He gave me his pen.
(3) 1 brought your pen. (4) Can I give my pen to you?

9. Select the correct option.
We should cover our mouth when
WE i

(1) Share (2) Crawl (3) Snceze (4) Climb

10. Look at the given picture and choose the correct conversation.

(1) A : Give me tomatoes.
B : Where's you bag?
(2) A : Do you likc roasted corn cobs?
B : Oh! I love them.
(3) A : Hello uncle can you dcliver the box today?
B : Sure.
(4) A : Have you tried these cakes?
B : This is a new cake shop.
SPACE FOR ROUGII WORK
0202/ Urdu Set-A 40f32 P.T.O.

11.

12,

13.

14.

16.

Select the correct option.

Keep your hands on your ............
(1) waste (2) west
(3) wait (4) waist

Find the odd pair.

(1) August September (2) October November
(3) April May (4) June August
Find out the odd term

(1) Thigh (2) Deer

(3) Thicves (4) Oxcen

Select the correct option and complete the sentence.
Ish@icieecancrone cat fruits.

(1) doesnt (2) doesn't

(3) does'nt (4) doesnt’

. Select the correct option and complete the sentence.

We g0 by wvvvenerniiniann Auto-rickshaw

M A (2) The

3) An (4) No article

Find the odd group

(1) king, ring, thing, sing (2) tall, fall, ball, call
(3) keep, peep, sheep, jeep 4) get, wci: not, let

SPACE FOR ROUGIH WORK
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17. Sclect the correct punctuation mark for the given sentence.

21. Find out the correct word to complete the given diagram.
Does she go to school

1) Run -
(1) Full stop (2) Comma : ) Ry Tocavtitully |
: _ 2) Write
(3) Question mark (4) Capitalization , €
”ﬁ (3) Eat -
R | ! (e ] [y
18. i Maha Sale m ”_ (4) Sleep
| . . |
“ Sari and Kurti “ 22. Where should be the exclamation mark in the given sentence?
g Offer- Buy 1 Get 3 ] Select the correct option.
“ Rs. 1000/- only & Good morning Kondiba
Illlllllllllll“ (1) after morning (2) after moom
The special offer is .........eeeun...... (3) before Kondiba (4) after Kondiba

(1) Buy one get one
(2) Buy one get two
(3) Buy one get three

23. Choose the corrcct option.

Many Many Happy Returns Of The Day !

(4) Buy one get four

This message is about.................

Choose the correct sentence showing proper position of a comma. . (1) Wedding (2) New ycar
(1) Master Master have, pity, on me.

19

(3) ‘Birthday (4) Journey
(2) Master Master have, pity on, me.

(3) Master, Master, have pity on me. 24. Select the correct alternative

(4) Master Master have pity, on me. Ag yelloW' 85 wcusuees
(1) Dawn (2) Rain
20. Solve the riddle. (3) Turmeric (4) Honey
T use scissors. I use a needle
and thread. I make clothes .
from cloth. Who am I ? ‘ 25, Find the odd group.
(1) Tailor (2) Potter (3) Cobbler (@) Jewelter (1) cement, city, circus, centre (2) group, good, gate, ground
, (3) brown, bucket, black, brinjal (4) kite, kangaroo, know, king
SPACE FOR ROUGH WORK

SPACE FOR ROUGH WORK
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i SECTION-I |

INTELLIGENCE TEST

26, In the word "ADJIECTIVE® w hich letter is third to the left of the middle position

ketier 7
i b 2) J
@Gy v M1

27.5.-\!!(‘[)}'-. FGHIJ KLMNO PQRST UVWXY]
In the given leners series, what is the position of the letter from start which is
fourth to the left of the letter which is tenth from the right side of the series.

S @ 12

33 20 “ 6

28. How many total vowels are there in the given sentence ?
‘Rupa gave letter 1o Ram.®
h 5 2 3

3 8 @ 9

29.03.2,7.1.0.5.6.6.4. 3.6, 1. 7. 3. 3.2 I
In the given number series, what is the difference between the square of the
mumber which is 6th from left and which is 7th from right side ?

th 33 ) 0

3 8 ) 16

SPACE FOR ROUGII WORK
—_— T

!
L

0202/ Urdu Set-A Sor32 PT..

[ABCDE | FGHIJ [ KLMNO [ PQRST [ UVWXY |

SECTION-II I

INTELLIGENCE TEST

of K . % 3,0
; s . L 2 Menl g2 i3 26
?b'::Lf\;‘x(_,‘:"’,/..-_.-_/Q'ufl_..__'.-, (SIS OS G PRI |

r(2) S
FRC)] = (3)

KLMNO PQRST L’\"WX\'] 27

; L3 s
L L& S 7N vr

ABCDE FGHIJ

r

[ . } P .

NSRSy = Iy MR 1Y ) N O o AN IV S 4 o S
7

12 (2) 19 (1)
20 (3
6 (4) 20 (3)
=, A . s g L, = -: A 28
S WU 5 B Tt A B U s et T sl 28
3(2) 4
9 (4) 8 (3

[3.207.1.0.5.6.6.4.3.6.1.7.3.3.2 | 20
TGS p L s [ IL e L B pbislE o e L et
0 (2 KENEN
16 (4) S (3)
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[ABCDE| FGHIJ [ KLMNO [PQRSTJUVWXY]
Note for : Q. 30 to Q.34 : [Find odd man out] P
L L 348308 e
30. (1) Puppet show (2) Television oad @ A,F,a'f M 30
(3) Computer (4) Cinema i (h ) /'-':,I (3)
31. (1) May (2) July i . Fm 11
(3) June (4) August viz @)
e o @)
32, (1) 2651

(2) 2246
(3) 5324

) 6215 2246 (2) 2651 (1) 32
6215 (4) 5324 (3)
33. (1) 9338 2) 7276
O2C
il L8 #229 7276 (2) 9338 (1) 33
4279 (4) 9295 (3)
34, 34
* i
. . . | 1)
35. In the given number series, select the correct option to replace the question
mark. r v(é,fd,puu,ﬁ,&f_-xw.gvui&’dwﬁJ.'J' 35
3, 4, 7,10, 15, 22, 31, ? f 3.4,7,10, 15,22, 31, ?
(1) 46 (2) 40 ] 40 @) 46 (1)
(3) 44 4 42 i 42 @) 44 (3)
|
SPACE FOR ROUGH WORK H = 5
- } Ldod Lesss
i
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36. In the given series of figures, select the correct option to replace the question
am:._ﬁ. - s

- o == i # 7 \;o\‘\!\_r. 36

..
-

-
..
-
..

<

(1 (2) (3) (4) (1) (2) (3) (4)

37. Select the wrong term in the given number series. A. «F .\wﬁ(nw.rmv\mnh.. ¥
~ v T =
2, 7, 28, 64, 126, 215

7

2,7, 28, 64, 126, 215

(1) 28 ) 64 64 (2) 28 (1)
3) 215 @ 7 7 (4) 215 (3)
ofsr T - Z T { ! o2
38. Sclect the correct option to replace the question mark in the given number .n‘nl_LHTTU.an&Gh\F&,\Cnm\C\.\\IT\. 38
series. 14, 16, 19, 24, 31, 42, 55, 7
14, 16, 19, 24, 31, 42, 55 9 72 (2) 65 (1)
(1) 65 (2) 72 i 70 (4) 75 (3)
3) 75 4 70
SPACE FOR ROUGH WORK
3L Lk
0202/ Urdu Set-A 12 0f 32
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. -3 iv oups
39. Sclect the correct option to replace the question mark in the given groups of
signs,
3+ ?
SEEXH >ex4<, ax4<> X4<>H?
1) <>+ x4 2) +x+<>

B) + xc> = 4) +<>+x

40. If Deer is called as Rabbit, Rabbit is called as Shekaroo, Shekaroo is called as
Porcupise, Porcupise is called as Tiger, Tiger is called as Bear then which

animal is the state animal ?
(1) Shekaroo (2) Tiger

(3) Rabbit (4) Porcupise

41. The sum of ages of Mother, Father and Son three years ago was 73. What will
be the sum of their ages five years later ?

(1) 97 @) 75

(3) 78 (4) 88

42. Anushka's score of marks is more than Aarya but less than Aaboli. Shevanti's
score is same as Aarya but to more than Chameli. Who has scored the highest

marks ?
(1) Aarya (2) Aaboli

(3) Shevanti (4) Anushka

SPACE FOR ROUGH WORK
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- F -~ » L5s ' = 7 .
oLz Tl g \u\.(.\. ke oo rie v 2 39

$
!
v
"\H
T

<> = X+ >+ X+ <, +FX+<> X+<>= ?

+ X +<> (2)

+<>=x (4)

3 C W e . .\l“. ﬁ._\n e, _.vr.\_.n Mﬂ\-\“-ﬂuww Vﬁ\r\u..\u.w.“.lx.b_ 40
y > £ A € . —t N ey
k\FTrQEu“&TI\PTr.\\%Tub\&VlrWﬁ 2o S bl S bt
Bl S FLE AL
rd

f @) &
-, 2 (3)
=26 (4) ot

> > .\. Yautie
e Z e s AUE I BT B T3 s A I St 31
88 (4) 78 )

:: s Co. o (P,
IS B \.ntr.mr_\\wcnw..het_hm.trcmmn..u_\.\\nlukr\m Lt 42

A..Cu.ur_.l.sﬂ\\\ﬂuwhwu.
() ot (1)
_\b_ @) =i (3)
Lied Lp¥ss
15 of 32 P.T.0.
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43, Akshay said to Aarti “your mother's father is my father's father.” What 1s the
relation of Akshay with Aarti's mother 2

(1) Son of husband's brother
(2) Uncle
(3) Grandson

(4) Son of husband's sister

44, How many total number of triangles are there in the adjacent figure

/‘\
71\
/ 1\
{1
A //\‘ ; \"-. .
L\u’ N \./,J
7 \I
| S 3
(14 (2) 1S
(3) 10 4 12

45. In the figure given below how many total number of quadnlaterals are (here 7

(1) 9 2) 6
3) 18 4) 18

SPACE FOR ROTUGIH WORK
———— 2
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P ;o e 7 o S9N ‘,;I:L-/c.,.a'::—g';; 43
o GGG JT )T L Al i g P IS e
= . ¥ (1}
vy (2} L)
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G () it
¥ ~€r D £
te Frs P s Pl 44
A
I\
/|
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!
e % 1
Ve &N
's (D) t4 (1)
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Note for Q. 46 and Q. 47 : Scleet the correet option to match the mirror image

of the question figure.

46. Question Figure

47. Question Figure Answer Figure

AP a. @@ m_g

(1)

Note for Q. 48 and Q. 49 : Sclect the correct option 10 match  the water image
of the question figure,

Answer Figure

de | [ds ] [R2] [24

(1 (2) (3) (4)

48. Question Figure Answer Figure

P A
M w ws 2(2 WA E<
A b b b
sarasec o
(hH (2) (3) (4)

49. Question Figure Answer Figure

OB

SPACE FOR ROUGH WORK
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Note for Q. 50 to Q. 54 : There exists a relation between first and second term,

similar relation holds true for third and fourth term. Accordingly select the correct
option to replace the question mark.

50. Crops : farm : : fruits : ?
(1) Orchard (2) Market
{3) Mall (4) Shop
51. Sparrow : noun : : went : ?
(1) Pronoun (2) Verb

(3) Noun (4) Adjective

53.5:12::6:7

(1) 18 2) 15

(3) 12 @ 21
54. 4396 : 6475 : : 3485 : ?

(1) 4595 (2) 4574

(3) 5564 (4) 4564

SPACE FOR ROUGH WORK
_ e o

0202 / Urdu Set-A 20 0f 32
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vl L 54e 50y ecls
-4%:.Jj&g(usz_/fydwﬁ-.akeauﬂg/»dufug_&'

¢ HRT P _-,!:UJ’ 50
Sz (@) AT
Uk (4) A (3)
e Vig - 1Lz st
S @ A2 )
= (4) 13
1) 2) 3) )
¢ 6 12 :5 53
15 (2) 18 (1)
21 (4) 12 (3)
€ @ 3485 :: 6475 : 4396 54
4574 (2) 4595 (1)
4564 (4) 5564 (3)
‘EJUELL((_L‘
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55.

Which of the following action of Raju is correct, when he saw garbage lying
at the place where small children were playing ?

(1) He picked up the garbage and threw it into the dustbin.

(2) He neglected it

(3) He pushed out all the children from that place.

(4) He purposely tell the security person to pick up the garbage.

Note for Q. 56 and Q. 57 : Sclect the figure perfectly matching to the question
figure from the given options.

56. Question Figure Answer Figure

> Edae

57. Question Figure Answer Figure

(1 (2) 3 4

58. In a row there are 15 girls to the right side of Savita and 11 girls to her _mm
if she is standing at the middle then what is her position number ?

(1) 12th (2) 13th
{(3) 14th (4) 15th

SPACE FOR ROUGH WORK

-
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A.C.\Hr.\\_.\h\ﬂ\(ﬂn\_u\mw.Gmlfhuﬂ\\a.\._ ﬁ.\.w(.f amm\l."I.\wu(.ru 55
e SEE ()
-Sr\m ()
L.L o \l\ 3)

-ﬂ.n_lhm.m_hﬁcc el (4)

1 L510156 4w rzcls

Jeidiz S .
B @@@ |
D
n (2)
Qﬂ\_rw.uv ﬁL_o\ 5

Xvﬁ

Ko P 0n S s B 51t e S I L& 15 JuL 2SS 58
_ ¢

ey 2

A
Jls 13 (2) Uh 12 (1)
Uls 15 (4) Ul 14 (3)
Liod Leess
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9. Students are standing for mass P.T. The number of rows and students in one
row is same. If 15 students are standing in cach row then what is the total
number of students standing for mass P.T. ?

tl) 225

(2) 150
(4) 125

60. John is standing with his back towards the East. He turns to his right hand two

times at right angle. Which direction is he facing now ?
(1) West

(3) East

(2) South
{(4) North

61. Ahmed went 18 km in the west direction, then he went 11.5 km to the south,

then he went 6.5 km to the east, then he went [1.5 km to the north and he
stopped there. At what distance is he from the starting point ?

(1) 11 km (2) 10.5 km

(3) 12.5 km (4) 11.5 km

Mandar was bomn on 7th July 2007 Saturday. Which day will it be on his
second birthday ?
(1) Monday

(3) Wednesday

(2) Tuesday

(4) Thursday

63. In a certain year if 15th August falls on Monday, then in the same year 6th
September will fall on which day ?
(1) Thursday
(3) Tuesday

(2) Monday

(4) Wednesday
SPACE FOR ROUGIL WORK
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Jugd Lt Jung 15026, Sz L6 & GEIGULBEL LT 59

wc_\\&%‘ﬂ.\.h
150 (2) 225 (1)
125 (4) 250 (3)

7 > " - & o
S EUT Tzt Lt s e il L e tn-e AL S 2e L0/ 60

Crrmr
-7 (2) = (1)
Jé (@) 37 )

1LSEJRUE 2K 6.5 0t L1k 1.5 A2 A K 188481 6l
| RSN TY o - eI S WV Y 9
10.5 (2) 11 (1)
11.5 (4) 12.5 (3)

tnene e A pmdunidsnimd £420010uz 1 g Sos 62
£ @ & ()
=17 (4) 2% (3)
Tl 6Lidbpl=tsJe L 63
4 @) =1 (1)
ok (4) S o)

LIl v
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Note for Q. 64 to Q. 68 : The term given in cach question have same common
characteristic Select the correct option to match the group.

64. Iron, bricks, sand,

(1) Cotton (2) Coal
(3) Thread (4) Cement
65. Brain, Lungs, Emnﬁ
(1) Skin (2) Ears
(3) Stomach (4) Eyes
¢ N YN, 9
NN,
AN D D
A NTA N1 Ne S
(D 2) 3) 4)
67. 65, 83, 92
(1) 54 (2) 87 3) 47 4) 39
68. 2520, 6273, 7092
(1) 085 (2) 2823 (3) 6018 (4) 8127

SPACE FOR ROUGH WORK
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1 L68664 7)1 t=cls
QJ..\\C‘_IPW\\T:\.\RWC_F&,\_ gl\\?&x\(ﬂC_ Q.Kmrufx\rhvr\.(f\hgw\

.‘ﬁn\%fhnlu&\:_.ﬁr
ez w2kl Y 64
@ vy ()
i (4) Fbs (3)
b owset L 65
u¥ (2) 2 (1)
FT @ £ 3

66

\7 \_J
NIZANPAS
®n @ @) §

92 83 65 67
87 (2) 54 (1)
39 (4) 47 (3)

@

7092 <6273 <2520 68

2823 (2) 8085 (1)
8127 (4) 6018 (3)
Lded L
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69, Observe the venn dagram carclully and answer the tollowing gquostions,
Which of the tollowing number is soen only in the triangle ?
S ._/.,
3 .‘,‘,.. ._.f.x/.l\
| N
Lo s ] >~
3 1 7 /
i1y 7 (216 RIS 4

1y 42 {2) 32 (H 12 (4 22

-

71 In oz cermun code language of 62 = 14, 47 = 15, 95 = 23 then 38 = 7

(1 11 2y ) (}) 306 4 8

72 In s cortmn code language if 6 = 14,7 = 17 and 3 = 5 then 4 = ?
1y 4 (M 6

(5 2 4) ¥

AFACE FOR ROUVGH WORK
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73. In a certain code language if CAP = 0O ®, CAT = 00O, PAN = A0DO

74.

then TAN =?

) paoe (2 oo

3) oam @4 aA00

In a certain code language if KMD = <> v, KNM = A > <, NKD =V A >
then MND = ?

[Note : The signs and alphabets may not be in the same order.]
1) Av> 2) A<>
3) Avc “4) ><v

. Teacher appeals to all students that as the yearly inspection is near all have to

complete their assignment note books. Your assignment note book is completed,

but you know that, one slow learner student of class has not completed his
assignment note book, what will you do ?

(1) T will tell my bench partner to give his assignment note book to that slow
lecarner.

(2) I will help him to complete his assignment note book.
(3) I will not give my assignment note book to any one.

(4) I will tell the teacher that he misplaces the note books.
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